

Adding Integers (E)

Use an integer strategy to find each answer.

$(+88) + (+35) =$

$(-98) + (+76) =$

$(-6) + (+4) =$

$(+53) + (-14) =$

$(+42) + (-81) =$

$(-75) + (+33) =$

$(+82) + (-2) =$

$(+46) + (-45) =$

$(+28) + (-17) =$

$(+36) + (-92) =$

$(+60) + (+25) =$

$(-92) + (-45) =$

$(+59) + (-56) =$

$(+32) + (-98) =$

$(+70) + (+94) =$

$(-95) + (-82) =$

$(-19) + (-49) =$

$(-22) + (-17) =$

$(-18) + (+97) =$

$(+16) + (-50) =$

$(-76) + (+58) =$

$(-53) + (+16) =$

$(-94) + (+68) =$

$(+61) + (-4) =$

$(-27) + (+7) =$

$(+3) + (-72) =$

$(-21) + (+44) =$

$(+34) + (-27) =$

$(-31) + (-62) =$

$(+85) + (-26) =$

Adding Integers (E) Answers

Use an integer strategy to find each answer.

$$\begin{aligned} (+88) + (+35) &= \\ &= (+123) \end{aligned}$$

$$\begin{aligned} (-98) + (+76) &= \\ &= (-22) \end{aligned}$$

$$\begin{aligned} (-6) + (+4) &= \\ &= (-2) \end{aligned}$$

$$\begin{aligned} (+53) + (-14) &= \\ &= (+39) \end{aligned}$$

$$\begin{aligned} (+42) + (-81) &= \\ &= (-39) \end{aligned}$$

$$\begin{aligned} (-75) + (+33) &= \\ &= (-42) \end{aligned}$$

$$\begin{aligned} (+82) + (-2) &= \\ &= (+80) \end{aligned}$$

$$\begin{aligned} (+46) + (-45) &= \\ &= (+1) \end{aligned}$$

$$\begin{aligned} (+28) + (-17) &= \\ &= (+11) \end{aligned}$$

$$\begin{aligned} (+36) + (-92) &= \\ &= (-56) \end{aligned}$$

$$\begin{aligned} (+60) + (+25) &= \\ &= (+85) \end{aligned}$$

$$\begin{aligned} (-92) + (-45) &= \\ &= (-137) \end{aligned}$$

$$\begin{aligned} (+59) + (-56) &= \\ &= (+3) \end{aligned}$$

$$\begin{aligned} (+32) + (-98) &= \\ &= (-66) \end{aligned}$$

$$\begin{aligned} (+70) + (+94) &= \\ &= (+164) \end{aligned}$$

$$\begin{aligned} (-95) + (-82) &= \\ &= (-177) \end{aligned}$$

$$\begin{aligned} (-19) + (-49) &= \\ &= (-68) \end{aligned}$$

$$\begin{aligned} (-22) + (-17) &= \\ &= (-39) \end{aligned}$$

$$\begin{aligned} (-18) + (+97) &= \\ &= (+79) \end{aligned}$$

$$\begin{aligned} (+16) + (-50) &= \\ &= (-34) \end{aligned}$$

$$\begin{aligned} (-76) + (+58) &= \\ &= (-18) \end{aligned}$$

$$\begin{aligned} (-53) + (+16) &= \\ &= (-37) \end{aligned}$$

$$\begin{aligned} (-94) + (+68) &= \\ &= (-26) \end{aligned}$$

$$\begin{aligned} (+61) + (-4) &= \\ &= (+57) \end{aligned}$$

$$\begin{aligned} (-27) + (+7) &= \\ &= (-20) \end{aligned}$$

$$\begin{aligned} (+3) + (-72) &= \\ &= (-69) \end{aligned}$$

$$\begin{aligned} (-21) + (+44) &= \\ &= (+23) \end{aligned}$$

$$\begin{aligned} (+34) + (-27) &= \\ &= (+7) \end{aligned}$$

$$\begin{aligned} (-31) + (-62) &= \\ &= (-93) \end{aligned}$$

$$\begin{aligned} (+85) + (-26) &= \\ &= (+59) \end{aligned}$$